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1 [Molkel 7t23 Mo 7,200 1 7,200 6,480
2 |90ALCH HEZAHD 25,000 1 25,000 22,500
3 [1%E =& Mz 22,000 1 22,000 19,800
4 | =St 9719 & dois 17,800 1 17,800 16,020
5 |dojdel otgsg 4013 18,000 1 18,000 16,200
6 [T M LE ATt 2|, HK Dl st 16,800 1 16,800 15,120
7 |HE[EZE O MIEfA 82 SEYA 15,000 1 15,000 13,500
8 |OtF 3|0t Heze zed 28=4| 16,800 1 16,800 15,120
9 |ZH9 o HZLI2 #2422 (2ME 16,800 1 16,800 15,120
10 |Z2E9| o2l HZLI2 #2422 (2ME 16,800 1 16,800 15,120
11 | R8st =40 R CHEwd 20,000 1 20,000 18,000
12 |[£5% AME S HEs A e 21M7|1= 4 18,000 1 18,000 16,200
13 [LHHAS dFgt QIEZAY 33,000 1 33,000 29,700
14 |29Y C|xtel |04 CHadd 22,000 1 22,000 19,800
15 |2IE &= ofzHo M s43t stAz| &L 15,800 1 15,800 14,220
16 |1 SItEQHa s43t stAz| &L 14,000 1 14,000 12,600
17 |Ectol= 0|3y | 16,000 1 16,000 14,400
18 [XI77t BESICI 2= AMEO EZ 0 AR Q 2| 0j7IEtojof [ 22,000 1 22,000 19,800
19 |23t gXtol utet 35 FAE 17,500 1 17,500 15,750
20 |44 xhgh Moyet ESPNE= 16,500 1 16,500 14,850
21 |OtF et HEsicte =2 =2 14,000 1 14,000 12,600
22 |Lt= 0| HotLt Ao A= e 17,000 1 17,000 15,300
23 (MOA & BHEM MHA = 14,000 1 14,000 12,600
24 (MOA & BHEM2 MHA = 14,000 1 14,000 12,600
25 |SFAIHO] At 1 HEA|EY 14,500 1 14,500 13,050
26 |LrA|O] EfAt 2 HEA|EY 14,500 1 14,500 13,050
27 |LAI o] At 3 HEA|EY 14,500 1 14,500 13,050
28 |LrA|O] EfAt 4 HEA|EY 14,500 1 14,500 13,050
29 |Ot=0l B2 Lzt Y= gHEts 20,000 1 20,000 18,000
30 |Rlzlel & 2 ElOpaF 23,000 1 23,000 20,700
31 |MGPT A E QIS 25t 2HIto|= 0|5 17,000 1 17,000 15,300
32 |2™OIMol 2t 2|2 O FH I3, EfER Aga 20,000 1 20,000 18,000
33 |Ot= EHE EeQlCt [FEE 22,000 1 22,000 19,800
34 |HSHEIS =2 At sES 33,000 1 33,000 29,700
35 |22t g = AtRtAE olerH Tzt 15,000 1 15,000 13,500
36 |H0HAM B ol M Yaey dy= e 14,000 1 14,000 12,600
37 €18 =0l = SN el AGA 19,800 1 19,800 17,820
38 |&R0| HoA Cte= T o|%&H 2= 12,500 1 12,500 11,250
39 |21zt dS4 art 13,000 1 13,000 11,700
40 [=H= F7I3o|ct HE= 13,500 1 13,500 12,150
41 |2Me Meg=o|ct HE= 14,000 1 14,000 12,600
42 [FCh ECIO &2 ot =g o712 |53F 15,000 1 15,000 13,500
43 |40 8= =0 z5g FrosA 16,000 1 16,000 14,400
44 |42t RIGHED QEFLIH| FHLt  |CHR 5,000 1 5,000 4,500
45 (4 REME2 QEFLIH| FHLt  |CHR 5,000 1 5,000 4,500
46 (A2 REMES QEFLIH| FHLt  |CHR 5,000 1 5,000 4,500
47 |LH Or2o| I-E 44 AR 20| 2|2 5,500 1 5,500 4,950
48 |LH Ot2o| It HA2 APREHO| 2|2 5,500 1 5,500 4,950
49 |LH Ot29| IRt HA3 AP EIO| 2|2 5,500 1 5,500 4,950
50 Wi ot22l flgst 14 AP EIO| 2|2 5,500 1 5,500 4,950
51 [ ot22l /st 45 AR 2to] 2| 5,500 1 5,500 4,950
52 | ot22l /lgst 46 AP EIO| 2|2 5,500 1 5,500 4,950
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53 |U OFZ2l IS HA7 AtF2t0| 2|2 |A0]0]C|of 6,000 | 1 6,000 5,400
54 (U 022l ISt HAl8 AtF2t0| 2|2 |A0]0]C|of 6,000 | 1 6,000 5,400
55 |2= MIe| & BE M of| =7 16,700 | 1 16,700 15,030
56 712 =2 3 Mat Saboj| CH7tz 0] (M I A 14,000 | 1 14,000 12,600
57 |&H&7) LEZEX|OF OFAA A | 2 O Z EFAF 13,800 | 1 13,800 12,420
58 |ZEE ZErE ozl 22 HAER| 11,800 | 1 11,800 10,620
59 |Z#=2 o 2EA TR Y= STUR| A2 A 16,000 | 1 16,000 14,400
60 (A% LEAD 2M7] (AL 13,000 | 1 13,000 11,700
61 |52 & Ye xE =0l Z AL 9,000 | 1 9,000 8,100
62 |El0tE SLiE1 o|ey A2 17,000 | 1 17,000 15,300
63 |EI0E =LH2 o|ey A2 17,000 | 1 17,000 15,300
64 (Mol OpX|eE 71Xt S2M A |22 14,000 | 1 14,000 12,600
65 [Ztgel HHH Alo|= 3187 (2R 15,500 | 1 15,500 13,950
66 |Ltet H2l 365 /0|3t 22 15,500 | 1 15,500 13,950
67 [HICHL S2l= HolF 1 ORA|CH A3 (22 16,000 | 1 16,000 14,400
68 [HiCHt S2l= Held 2 ORA|CH A3 (22 15,000 | 1 15,000 13,500
69 [HIZt 2 He|= 4F 73 EE R 16,800 | 1 16,800 15,120
70 [He o= AZY 2 A4 =2u 22 16,800 | 1 16,800 15,120
71 [SFOoale ¢H HEd Helo gy 29,000 | 1 29,000 26,100
72 1€ 120 1222 EWe ITSH(111 Al2lZ) Foty =g 17,000 | 1 17,000 15,300
73 |HOE AT Tz SMECIEE(EZE T2 HY MEl= B9|@=0| =4 17,800 | 1 17,800 16,020
74 (LR 2D A2 SR el =T 26,000 | 1 26,000 23,400
75 |&2gHt2o =R (LIEHM 7) HEe2t HEE |LIREH=AMES] 14000 | 1 14,000 12,600
76 | YA GS 2f(=HED 5) ojag cHe 14,000 | 1 14,000 12,600
77 (Estm &4 LT oatet A& cHe 15,000 | 1 15,000 13,500
78 |HHEEREL 3) 2F cHe 13,500 | 1 13,500 12,150
79 [OIEE S57} MO|AOIX|= =508 £ 7|8 2|5 oc|y s Chibg A 18,000 | 1 18,000 16,200
80 |t Ho| CHO| Y (CHA MR H ARt 18) 0|59 CHESA 13,500 | 1 13,500 12,150
81 [F&FU 354 = TER Chitol & 18,500 | 1 18,500 16,650
82 [HLI22of &l Nlel2mof RSAr 9,000 | 1 9,000 8,100
83 [UHOf A St E Z(THHIH A EZSh)(YEE Hardcover) HX G CHH|EaE 13,500 | 1 13,500 12,150
84 |0h30t QHI(HVLE AZ|I= 2) g0 1 [[elEg 16,800 | 1 16,800 15,120
85 |Ltet EE 1t #a2| 2|1 2o CisiA £ 1zd CEg|® 15,000 | 1 15,000 13,500
86 | &3 OIo|(EF= = 36) 0|5y SHI7H 14,000 | 1 14,000 12,600
87 |SNSet ADEE S5 O{EA s{ZE72(10th7t & 2fo{of & (Yo SOty ety 15,000 | 1 15,000 13,500
88 [&EE, X7t &[Tt 182 SOF AU QHH]| 15,000 | 1 15,000 13,500
89 |14&EH AES= 12 1=9 APO|E CHFHA| |EQlE 14,000 | 1 14,000 12,600
90 [14&5H AZSt= LI R & 3% HEet =2 EOISETAM 15,000 | 1 15,000 13,500
91 |0t 2|2 7|%= SYUC Aa} kAt CEOISETA 15,000 | 1 15,000 13,500
92 |OtHOf L} =Xt LofLte Y FO|E ST |EQASETA 14,000 | 1 14,000 12,600
93 |89 S WohEtY Had 23 61) Ol MR 2Hd 12,000 | 1 12,000 10,800
94 [Z0[2H= M|l tHet At=lE HZSIEL 1) duH 2(0rel= 14,000 | 1 14,000 12,600
95 |AIROl A2t St(OER Had 29 ag OER 14,000 | 1 14,000 12,600
96 |XITRE H2ln SESHLOMSEE 15 ZMa 2y o 0l& 14,500 | 1 14,500 13,050
97 |Ltel R Al e E st HaE 23) M= o= 17,000 | 1 17,000 15,300
98 |uitA el & At 2ZH| 15,000 | 1 15,000 13,500
99 [&& %= OofFton) de=+ S ESTA 16,000 | 1 16,000 14,400
100|223t LA (ZeEHEAH 63) dd =& 12,500 | 1 12,500 11,250
101 [&EAHR R AtA &= oty 13,000 | 1 13,000 11,700
102|4E2 o o Hiof EACU(ESSH H2H 66) Oj%&H =& 12,500 | 1 12,500 11,250
103| AR 22 & Y 22L REZ|ZSMA AL 13,800 | 1 13,800 12,420
1042 He2 El= HEHA ¢ pakskoly 22740 17,000 | 1 17,000 15,300
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105 [9AL R 20| SHSHASLICHE0HE Hads 1) 15,000 | 1 15,000 13,500
106|HE 20 FH(ZEEAHE 12) 14,000 | 1 14,000 12,600
107 [=olat MM Eo| &2 F3Hdo| gjojor & A~ &1 34H 15,800 | 1 15,800 14,220
108 [=olat MM EHO| &2 F3:do| gjojor & A~ 2 39H 15,800 | 1 15,800 14,220
109 [=olat MM Eo| &2 F3do| gjojoF & A~ &3 34H 15,800 | 1 15,800 14,220
110|Clof, WO 15,000 | 1 15,000 13,500
111 o Bol 9|5 TLIR?(1318 nYE D) 15,000 | 1 15,000 13,500
112 EXt2|(13182 1 140) 14,000 | 1 14,000 12,600
113 CHEAE 453 140| 1 9jofof &) Mzte 22,000 | 1 22,000 19,800
114 2 HYg 22te M2tolgl 15,000 | 1 15,000 13,500
115 4 = 5t M2ztstn 13,500 | 1 13,500 12,150
116 [LHE el 8 4= UACHH o 20| &l Ao} HeLt Z2|d2#42zstn 14,000 | 1 14,000 12,600
117 FECYzstn E280) Mzkstm 13,500 | 1 13,500 12,150
118 He Qo SHAIE D st SR EA Mztstn 14,000 | 1 14,000 12,600
119 HAE AXF oY) Mol 28 13,800 | 1 13,800 12,420
120 £ 2= dojolA FaRakly Mol 28 14,000 | 1 14,000 12,600
121 O] AACHMBZT HLHES 26) 2oll= Mol 28 13,500 | 1 13,500 12,150
122 SHeMTE 13,000 | 1 13,000 11,700
123 [Bte, L7t Lt ChAZIcHE? A= 16,800 | 1 16,800 15,120
124 (28 H AELE0|7} 2 RACt ORA|Z| 0| E R g Meimz A 14,800 | 1 14,800 13,320
125 | =4k QHEZ 0]OF7|(OFO| S QI E 0]0F7| 1) Ofo| &% 16,000 | 1 16,000 14,400
126 ok Mol gERHcH 1¥L HESA 14,000 | 1 14,000 12,600
127 £ B 100Ho)|A ZEC yag HEEA 15,000 | 1 15,000 13,500
128 T 5 gle AS0| Loto|(PES HadEst Ee|ot gE AHE 15,000 | 1 15,000 13,500
129 oto| Bt L2|gn 14,000 | 1 14,000 12,600
130 | XITX| 7| BHGPT(MA S 2t & Cf) 5T Sl i 15,000 | 1 15,000 13,500
131 (8 Enf ot 20 &2 21088 7| nE2 21 Fal bt A=Hst 13,500 | 1 13,500 12,150
132 (28 ERf LCHM(108HE 7| nEE 1 T 2|7 s Fal bt =g 12,500 | 1 12,500 11,250
133 [= 7|2 ME et O|X| & 14,000 | 1 14,000 12,600
134 (222 EZ0]| FO{E AILIO|(YA!' Al2|= 16) =gt O|X| = 14,000 | 1 14,000 12,600
135|Cl0] Or0] HC|(A22t2 g HAEESE 107) g 13,500 | 1 13,500 12,150
136 | SEX| 2fote ZEh AR 15,000 | 1 15,000 13,500
137 |(melof me2|& Re $h=xol = 0|0fF7| 8=z = 14,500 | 1 14,500 13,050
139 | FHA WEEHHLAEES 120) 3 & 14,000 | 1 14,000 12,600
140 | =& HHZ|(a-ol A 2He 30) gt | 10,000 | 1 10,000 9,000
141 [2test 712 S BtEs SR (HHEA2EES 119) Hqes | 13,000 | 1 13,000 11,700
142 [0]ok7| el O™ HiafekAHol A e 28) TR | 10,000 | 1 10,000 9,000
143 (2= TR 38 Y= HH DS 17,000 | 1 17,000 15,300
144 [2tH0| 2ChEH g dE2H 10) O| x| of HHlus 14,500 | 1 14,500 13,050
145 [2PH 2= A4 EH LS HotAE Al2|X) =2l HH D 17,000 | 1 17,000 15,300
146 |Lt& 12 & L2 Lt HY ZIA| MapLER 15,000 | 1 15,000 13,500
147|923, 2= WRI|Z OFSHUCHME HAEYA 5) oty ME 12,000 | 1 12,000 10,800
148 [HaEg 9ot 20| £l ZH maty Mas= HesA 16,000 | 1 16,000 14,400
150 [AHEE &X| ohE Al 23 34) Hxjel = 13,000 | 1 13,000 11,700
151 |74 ZHH(EE L7 sPEEh(Y & Hardcover) =F Edist 11,500 | 1 11,500 10,400
2,220,900 1,998,860




